REEH 20254 (FFNTEEEE) FERTEFER XFPREIFEEDHENHYET, RIEETIImEE/DMER 2025%F4 A 18H
47 5H8 68 78 88 94 104 118 124 1A 28 38
FEBRKER(~7H) SEE BRI 1345~ HEEHRAR—YKE BlFELE ZEREY 1 ZERTFEYH RU—ILhD stH
1% 1|x 1 | @[9:30~ 1| 1% 18 1|k 1|+ s |1 [B[¥EF—13:30~16:30 1K 1(8 1|8
®
ER EEEUALE BER BPF IR ARLE BREGLE ~ BEGLE EFEYE) AH—ILhT 5 —1330
2 |k 2 || PTARBERSERIS0~ (1 5 | g 2 |k 2 |£| AR (BERIBER |2 |« 2 [x 2 B T2 |x 2 |2 208 2 |g|~16:30
EIJQ%TAKE-PTAEIJKE-& E8E) =
4 5
| A BlIgLs X{EnH 8 BlIwLs EE A
3|x 3| 3|x 3|k 3|A 3|k 3 (& 3 (A B38|k 3 [t LRES 3 [k
#EYDH HRIRZ8:40~ (2MD1.5 BlIFELE BHAERE
4|® 4|8 4 |K|FE) RPERER (LS 4 (& 4(A 4% 4|t 4|x 4K 4|8 4|k 4 |K
H—F2\LR)
ZEHDH 1EERHRZ1345~ T BHSHQCEESH) BAERR (FKE)
5|t 5|8 5| & 5|t 5|k 5|& 5 (8 5 | K| FREEHEXQD PTA| | 5 |2 5 A 5 [ & 5 &
RIERHEE?
#*a SHA - FREBHS CF THPERERFRER =MEES Ro—ILhD
6|8 6 |k 6 | 2| B EBHRBER) 68 6 |k 6 iéﬁ)%f?iﬂii%’t”/ 6 | B|>t5—13:30~16:30 6 | % 6 |+ 6 | % 6le 6|2
5EEEZ DR ZEREFY RU—ILHY BlIIGELE #HPRFRIFYOS
7|8 7|k 7| 7 |B|¥15—13:30~16:30 7|k 7|8 RS 7| 7|8 YAES 7(x 7|
TR - A% K820~ A 1 4ETBERLHEI: 30 EhLVEFEL Y F vy RY—=ILHot5—13:30 BABK(£8) 95T EE
8 | w|#=X14:00~ 8 |&k|~12:00(FE) NERE | g |g|"—> 8 |w e 8 |g|~16:30 8 || EREUR 8 |+ 8 |A 8 |k 8B 8|8
A BB (2~64F) 13:15~ (24 %)
WL RFRAZER TERERRHRZ13:30~ V3TEH RO—INhIY BEABS(£R) ENHRE RY—IHI 251330
9 [k 9|& 9 |A[E5—13:30~16:30 9 |k 9 |x 9 |% 9 | x| ERER 9|8 9 |k RES 9 |A|~16:30 9 (A
T HHRARR CEIEFIRIT RS FERFYH RU—ILHY
10|k 10|+ 10| % 10| & 10(8 10| %k 10 f@%%é%(ﬁé) 10| A|~t5—13:30~16:30 10|k 10|+ 10|k 10| %
1ERBRE —F R CEEIEFIRIT SSW10:15~12:15 oA EEDYMAR FEERERARR EEIRZOA
1|& 11|\ 1% 1|2 1|8 1|% 1% 1% 1|k 1|8 11 [k 1|k
FEREFH RU—ILHY BE—XKEAF SEHE-BHRRR BB 2b0ER RADR
12|+ 12| A|~€35—13:30~16:30 12|k 12|+ 12| % 12| 2| EER-BER Y- 12|8 12 (% 12|% 12(A 12| x 12| &
RF—HMAT RR—YD A SHA-BHR 6EEETR
13|8 13| % 13|& 13|\ 13|k 13|+ 138 13| & 13|+ 13|k 13|% 132
ZREEY RERERHA 3%F)3— AVERRRLEHREE 95755 EE S P27 CRTR}E (~168) FETERER
14| B 14| k|5 —EE 14 ifTE‘ﬂ;ﬁ‘Eﬁ‘)‘g“T";ﬁ‘;?% 148 14| % 14|8 14| % 14|% 4|8 14|k 14(+ 14+
E-%E@
BlIFELE REBEERHB RIEHE) BlIELE EF—HAT #EDRH ERE FERRR
15| % 15| K| RRHREZ13: 15~ (3FE) (15| R 15| % 15|% 15| 8 15 |k |FAEFBF B EEZHT (13:30~) | 15[+ 158 15K 15| 8 15(8
2:4-5EHKBEDQ T—ILEE EESA S E3CITES EESAE 93T FEH HITRFE REKBD (ZRIRES
16|k 16| 16| 8 16|k 16|+ 16| % 18 | & 16(8 16| % 16(% 168 EIE
WEHEZ13:30~ (5F %) FEYAES wEHKA BlEIHLE FREYAES
17| k| EE2H-2ERRAE | 17|z 17| % 17| % 17| 8 17| % 17|& 17(A 17 %k 17(x 17| % 17| %
(EE-E5-ERD)
1-3-6E HFAEDQ ERHRZ840~ (1 &4, 2 ATEARTR#RT FESAES FREAREER(13:30
18| & 18| 8 18| k| P2, 2M3) 18| & 18| B 18| K 18|+ 18 |k 18| K 18 |8 18| k|~) 18 |k
RFHRD13:30~ (4FE4%) EABR(FE) ZAREY RU—ILAY
19| £ 19 A 19| K 19|+ 19|k 19(¢ 19(H 19|k 19 | &|SSW13:15~15:15 19| B|~t5—13:30~16:30 19 [ K 19|k
EESA S 95T EE 64E B B izt 22 B 11:00 EESA S F40R
20| 8 20| % 20| % 20| 8 20|k 20|+ 20(A 20 | K| ~12:00 20|+ 20 [k 20| & 20 (&
2EFH-FERRHAEIC B\EOH BlIwLs BEIKRRR?
21| B|BTRRERMAEA T | 21|k 21|+ 21| 8 21|k 21(8 21| % 21| 21 (8 21|k PNES 21|t
S EHAM R9—ILA7
HERERFR BREA BP2EMRXRLAIIKX BEABR(FL)
22|k 22| & 22|8 22 | | BB 22| &|& 22| A 22|k 22|+ 22(8 22| & 22(8 22|8
BESETH ER SEHNEB(BILSNE DN EEA PTARRIGE(F{EX BP #anB R )] BERTFRTOR SSW10:15~12:15 XEHELER
23| % 23| 4|SSW10:15~12:15 23| 5|7¥F) 23|k 23| | EEHMRKRERIIKE  |23|% 23| & 23|B 23 | x| BABB(FE) 23| % 23| A 23| A
SHE - FRBERS (65 FELIES SEESIER (RSN E PTARBIRRIER (TR SSW10:15~12:15 FELE]
24| K| EEHATHBER) -PTAR | 24|+ 24| k| F~F) 24|k 24(8|B) 24|k 24|% 24| A 24|k 24|+ 24| % 24| %
ZRURBZARD PTA
BARRNIER AMZFHE TREERAZ0 BTXHEER
1$2328:40~ (3EA. 4 W
25| | T ot aa | 25| B 257 25(% 25(8 25|k 25|+ 25|k 25K 25 |8 25|k 25| k|
w&EHKE ARHEPD13:15~ (1 4E) SSW10:15~12:15 95TEH FERIKNERIE
26|+ 26| A 26| & 26(+ 26| % 26(2 26| H 26 | 26| 26|A 26 | & 26 | &
SSW10:15~12:15 AR FIREYDOR IREF BEIKRR? SSW10:15~12:15
27|8 27| % 27| 27|| 27| K| BR 27|+ 27(A 27|k 27 |+ 27| % ES 27(%
wH#m EABK2BE EFRHRZ840~ (4D3, 4 TPEREHFERES AREERE SSW10:15~12:15
28| B[ (£8) 28| k| D4, 6% %) 28| | (FHLTH—IL) 28| A 28| & 28| 8 28| % 28 | & 28| B 28|k 28|t 28|+
EAOH REBRARLA AHE TRERE EBEPTABR AR (L
29k 29| K|£13:30~ (BF4) 29[ R 29|k 29(2 29| A8 29|k 29| | BH—T/LR) 29| A 29|k
FREERERD FEREIRAE~1/3FET AZERHER
& 30| 8 307k 30|+ 30|k 30|k 30|8 30|k KIES
FREFRAKE
+ 31 EIES 31(A 31 31|& 31 31|k 31|+
] ] ] ] ] ] ] ]
= = = = = = = =




